
NAME _______________________________________________________________   DATE  ________________________

edubuzzkids.com  c   2013. All Rights Reserved.

1  -  0  =

2  -  1  =

1

1

a)   3  -  0  =

b)   4  -  0  =

c)   3  -  1  =

d)   6  -  1  =

e)   8  -  1  =

f)   9  -  0  =

g)   2  -  0  =

h)   10  -  0  =

i)   6  -  0  =

j)   1  -  1  =

k)   4  -  3  =

l)   7  -  2  =

m)   8  -  7  =

n)   3  -  3  =

o)   6  -  3  =

4  -  1  = 7  -  1  = 1  -  0  =

2  -  0  = 9  -  1  = 8  -  2  =

5  -  0  = 7  -  0  = 9  -  8  =

5  -  1  = 8  -  0  = 5  -  3  =

10  -  1  = 3  -  1  = 4  -  3  =

Write the missing number from each subtraction sentence. 

(pay attention to = sign.)

Example:

SUBTRACTIONS


